

Okonkwo Joshua Chifuneli
 N6/EN9002/040
 Computer Engineering.
 EN9381
 Assignment II.

a) $y = e^{x+x^2}$

Using the chain Rule / function of a function

$y = e^u$

$y = e^u$

$u = x+x^2$

$\frac{dy}{du} = e^u$

$\frac{dy}{dx} = 1+2x$

$\frac{dy}{du} \times \frac{du}{dx} = (2x+1)e^u$

$\frac{dy}{dx} = (2x+1)e^{(x+x^2)}$

$\therefore y' = (2x+1)(e^{x+x^2})$

$y'' = \left(\frac{dy'}{dx}\right) = [2x+1] [(2x+1)e^{x^2+x}] + 2[e^{x^2+x}]$

$y'' = (2x+1)[(2x+1)e^{x^2+x}] + 2[e^{x^2+x}]$

where $e^{x^2+x} = y$

and $(2x+1)(e^{x^2+x}) = y'$

$\therefore y'' = y'(2x+1) + 2y$

b) $y'' = y'(2x+1) + 2y$

$y'' - y'(2x+1) - 2y = 0$

Using Leibnitz theorem:

$W_1^n = y^n \quad v_1 = 1 \quad u^0 = y''$

$v_1 = 0 \quad u^n = y^{n+2}$

$W_1^n = u^n v + n u^{n-1} v' + \frac{n(n-1)}{2!} u^{n-2} v'' + \dots$

$W_1^n = y^{n+2} (1) + n y^{n-1} (2x) + \dots$

$\therefore W_1^n = y^{n+2}$

$(2x+1)$

$$W_2^n = 2xy'$$

$$v^{(0)} = -2x$$

$$v' = -2$$

$$v'' = 0$$

$$u = y'$$

$$u' = y''$$

$$u^n = y^{n+1}$$

$$W_2^n = u^n v + n u^{n-1} v' + \frac{n(n-1)}{2!} u^{n-2} v'' + \dots$$

$$W_2^n = y^{n+1}(-2x) + n y^n(-2) + \frac{n(n-1)}{2!} y^{n-1}(0)$$

$$W_2^n = -2xy^{n+1} - 2ny^n$$

$$W_3^n = -y'$$

$$u^0 = y'$$

$$v = -1$$

$$u' = y''$$

$$v' = 0$$

$$u^n = y^{n+1}$$

$$W_3^n = y^{n+1}(-1) + 0 = -y^{n+1}$$

$$W_4^n = -2y$$

$$u = y$$

$$v = 2$$

$$u' = y'$$

$$v' = 0$$

$$u^n = y^n$$

$$W_4^n = -2y^n$$

Adding all results

$$W_1^n + W_2^n + W_3^n + W_4^n = y^{n+2} - 2xy^{n+1} - 2ny^n - (y^{n+1}) - 2y^n = 0$$

$$y^{n+2} = -2xy^{n+1} - 2ny^n - y^{n+1} - 2y^n = 0$$

$$y^{n+2} = 2xy^{n+1} + 2ny^n + y^{n+1} + 2y^n$$

$$y^{n+2} = (2x+1)y^{n+1} + 2(n+1)y^n$$

$$x^3 \Rightarrow 4x$$

$$u = x^4$$

$$u' = 4x^3$$

$$u'' = 12x^2$$

$$v = x^3$$

$$v' = 3x^2$$

$$v'' = 6x$$

$$v''' = 6$$

$$= 4^n u^n v + n u^{n-1} v' + \frac{n(n-1)}{2!} u^{n-2} v'' + \frac{n(n-1)(n-2)}{3!} v'''$$

$$4^n e^{4x} x^3 + n 4^{n-1} e^{4x} 3x^2 + \frac{n(n-1)}{2!} 4^{n-2} e^{4x} 6x + \frac{n(n-1)(n-2)}{6} 4^{n-3} e^{4x}$$

$$= 4^n e^{4x} x^3 + n 4^{n-1} e^{4x} 3x^2 + n(n-1) 4^{n-2} e^{4x} 3x + n(n-1)(n-2) 4^{n-3} e^{4x}$$

$$= 4^{n-3} e^{4x} [4^3 x^3 + n 4^2 + 3x^2 + n(n-1) 4 \times 3x + n(n-1)(n-2)]$$

$$= 4^{n-3} e^{4x} [64x^3 + n 48x^2 + n(n-1) 12x + n(n-1)(n-2)]$$

$$= 4^{5-3} e^{4x} [64x^3 + 5(48)x^2 + 5(4)12x + 5(4)(3)]$$

$$16 e^{4x} [64x^3 + 240x^2 + 240x + 60]$$

$$y^5 = [1024 e^{4x} x^3 + 3840 x^2 e^{4x} + 3840 e^{4x} + 960 e^{4x}]$$

$$1) x^2 y'' + x y' - y = 0$$

$$x^2 y^{n+2} + (2n+1) x y^{(n+1)} + (n+1) y^n = 0$$

$$x^2 y'' + x y' + y = 0$$

$$W_i = x^2 y''$$

$$v = x^2$$

$$v' = 2x$$

$$v'' = 2$$

$$u = y^{(2)}$$

$$u' = y^{(3)}$$

$$u'' = y^{(4)}$$

$$u^{(n)} = y^{(n+3)}$$

$$W_i^{(n)} = \sum_{r=0}^n \binom{n}{r} u^{(n-r)} v^{(r)}$$

$$r=0$$

$$= u^{(n)} v^{(0)} + n u^{(n+1)} v' + \frac{n(n-1)}{2} u^{(n-2)} v''$$

$$W_i^{(n)} = y^{(n+3)} x^2 + n y^{(n+1)} 2x + \frac{n(n-1)}{2} y^{(n)} 2$$

$$= x^2 y^{(n+3)} + 2x n y^{(n+1)} + n(n-1) y^{(n)}$$

$$u^{(n)} = y^{(n+1)}$$

$$W_2 = u^n v + n u^{(n-1)} v'$$

$$= y^{(n+1)} x + n y^{(n)}$$

$$W_2^{(n)} = x y^{(n+1)} + n y^{(n)}$$

$$W_3 = y$$

$$u = y \quad v = 1$$

$$u^n = y^n$$

$$W_3 = u^n v = y^n \cdot 1 = y^n$$

$$W_1^{(n)} + W_2^{(n)} + W_3^{(n)} = 0$$

$$x^2 y^{(n+2)} + 2n x y^{(n+1)} + (n)(n-1) y^n + x y^{(n-1)} + y^{(n)} = 0$$

$$x^2 y^{(n+2)} + x(1+2n) y^{(n+1)} + (n^2 - n + n + 1) y^n = 0$$

$$x^2 y^{(n+2)} + x(2n+1) y^{(n+1)} + (n^2 + 1) y^n = 0$$

$$x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2 + 1) y^n = 0$$